Kellergeschoss M 1:100

| 934 %
[ 215 3
10,30 854 30,19
1 572 25 287 30,19
10 317 2% 230 25 287 3010
L 2u6 443 L 2u6

|2 RW Kanal PVC 9150 2,0% — |4

Grundgrenze

- Sy O S S S+ \0
S Sr S =
ot ot =
M m H=280 m
17 ST.16,5/30,0
=) Abstellraum 3 Technik N
q— . .
m Fheseg B Fl|esen2 —
9,75 m 10,76 m m
AR 9100 L.i.D.
Lt It KS -2,75
- t
Gang
A Fliesen B
ol o 2 A 200 13,30 m? A ==
N2 2 53 : 80 N =
- @120 w20 N T
Fliesen ]
2,99 m? |
ﬂ: Unterzug /) Tr P
(=3
un
s
o
o Abstellraum 2 Abstellraum 1 z o
m Fliesen Fliesen = m
26,42 m? 10,76 m? 3
=
AR 9100 L.d.D. %
N <
7 M| KS 272 py 170 2 2
- S S . . . . < ol ok
DS S =1 == S
SW Kanal PVC 9150 - — AN
| 1,50% —~ n \tL\
Al "2l - [a .
RW Kanal PVC 150 2,0% —
gu- % 246 0
B SW-Schacht
9,30 187 I R T B N Q)
10 914 10 Bestand KS -3,00
m m KS -1,49
% 934 % 876




